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8.1-8.3 Review
1. If = find the ratio of x to y
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2.1 (x- 3] is the mean proportional between

DEF, measurements as shown. Find the perimeter and area of ADEF.
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2. Find the arithmetic and geometric mean

between 8 and 20.
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4. If the ratio of the sides of two similar
similar polygons hat is the ratio
of their areas?

H

3..)2 i
S N5

2
—
>

8.1-8.3 Page 1

%‘

315 Pe NP bhefween
Fand (U\M(—ﬂ?

}

Q)

>,

° o _l6  |oee=z2go0
T
\§ 9 z =7c:" wh:’%g >
h ‘ h= 9 — L{
P= 1s+is+23= B3 )(
A= 1(23)(9) = 2%?:: IOSf\/R
E N F . Aesa Van e ]



P= 15+Is+23= BS
Az 1(23)(9) = 2T = 1035
-

L

E 23 F 766 X
8.1s ﬂﬁ’:@~ﬁ@’? If yes, how do you know? \4‘ s <M
X P N6 Y
— :—g‘/ ~ V
- 7.5 7;5 4 2272P es, SAS ~
At
Jf—1, 375 " g/
0]
9. Given: £F || BC _
l. Ee |l Be Griven
Prove: AEFD ~ ACBD 2 LEFO?L{,&B “ “"\ts bﬂ!*‘ i'\*‘
E F L5 ::\'
2 3 LENFYLBDL |veriml £s are T
a U AcFo~aced | AA
B / C

10. Greg is 6 feet tall and Kathy is 4 % feet tall. If Greg’s shadow is 16 feet long, how long is Kathy's?
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